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Partl {60 MARKS)

For each question from 1 to 30, four options are gi‘.ven- One of them is the cofrect
answer, Make your choice (1, 2, 3 or 4) anid shade the cotrect oval {1, 2, 3 or 4) on
the Optical Answer Sheet. '

1. MrTan is partially blind. He uses the dots below to help him read his books.
Which ene of ths following senses is he using to enable him to read well?

- _-'7. “._:c

*» * =

e *5
(1) Sight. (2) Smeli
(3) Touch (4) Hearing

2.  Sludy the three animals carefully. In what ways are they similar?

A: They have legs.

B: They have wings.

C: They have a beak.

D: They have feathers on their bodies.

{1} Aand B only (2) Band C only
(3)A, Band C only MDA BandD on!_y






3.
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Mrs Fatimah told her children to classify the 6 biscuits into 2 groups.

The classification charts below show how each child has classified the biscuits,

Who has classified .commectly?

(1)

‘ Si'ti’s- qla'ssiﬁéatibn-ofcbiscuits
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Study the classification diagram carefully.

Animals
i .
i N
Six legs | Fewer than _six legs
. ] . ! - T

| | g . I _
With wings Without wings © With wings Without wings

: l 1 | le

| W X Y |2

In which group does the animal beléw belong to?

(Hw (2) X
Q)Y “Z

Which of the following statement(s} about flowering green plants isfare true?

AZ They produce flowers.
B: They can make their own food.
C: They_only bear fruits that can be eaten.

(1) A only (2} A and B only
(3) B and C only 4)A,BandC
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6. Study the flow chart below carefully.

Start
A
Is it a flowering No No
plant? ——»  Does it live in water? | ;
| Yes Yes
‘r' .
P No '
Does it live in water? F o o
Yes -

What is/are the characteristic(s) of Plant N?.

A:.Plant N lives on land.

B: Plant N lives in water.

C: Plant N.is a flowering plant.

D: Plant N is a non-flowering plant.

{1) A and C only (2) A and D only
(3) B and C only (4) B and D only

7. Natalie bought a butter cake. After a week, she found some green, black and
yellow patches on the cake. What could these patches be?

{1) They are fungi.

(2) They are plants.

(3) They are chlorophyil.
(4) They are tiny insects.

21
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8.  Lookat the bread mould and mushroom carefully. Which of the statements are
true about both of them?

bread sriould: mushroom

A: Both are living things.

B: Both reproduce by spores,

C: Both are micro-organisms.

D: Both do not make-their own food.
{(1)A and B only {2} B and D only
(3) A, Band C only (4) A, B and D only

9. Study the classification table below.

Living Things
[
! i
X Y
Characteristics Characteristics
it has spores. ' It has seeds.
It does not make it makes its own
its own food. food.
it does not need it needs sunlight to
sunlight. grow.

Which one of the following can be the headings for X and Y?

X Y
(1} Fungi Plants
(2) Fungi Bacteria
(3) Plants ‘ Fungi
(4) Bacteria Fungi

¥




10.

11.
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The picture below shows a milk botife,

What are X and'Y likely to be made of?

o)

@

(3)
4

Fodr materials (A, B, C and D) have different properties as shown in the table.

m//?ﬁym.rfffw

X Y
silk rubber
.- wool glass
rubber . -plastic
plastic metal

below.,
Material Not Heavy Flexible Fragile Waterproof
A v -
g 7 7
G v v
= >

Which material (A, B, C or D) is the best choice to make a balloon?

(1) A
3)C

(2)B
4D

23
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12, Larny fested the hardness of three spoons made of different materials, X, Y and
Z. He scratched each of them with a plastic ruler and a metal ruler, one ata
time. Then he recorded his observations in the fable below.

'+ shows the depth of the scratches.

Material Scratches made by the | Scratches made by the
plastic ruler metal ruler
X - _ -
Y - £ | Fopd”
Z . - +

Using the properiy on hardress, wﬁich}‘one'of the following shows the correct
arrangement of these materfals, . starting from the hardest material?

(MX,YandZ
()X, ZandY
(3YY,Xand Z
(Y, Zand X

13. . The diagram below shows the arrangement of four magnets, each with a pole
labelledas A, B, C and D.

Which one of the following shows the poles of A, B, C and D correcily?

A B _ C -D
(1 North ' North South ._South
) South North South North
(3) Noith South North South
{4) South South North "South
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14.  Mary magnetised four similar iron nails (M, N, O and P) using the 'stroking’

15.

method. Then she tested the strength of the iron nails by placing them in a box
of paper clips. She recorded the number of strokes applied 16 the nails and the
number of paper clips that were attracted to the nails as shown in the table below.

Iron nail | Number of strokes applied | Number of paper clips atiracied
M 5 R
N 10 _ 3
O 20 _ 5
P | T35 . 10

What can Mary infer from the experiment?

(1) The strength of the iron nail r@jnaihs_qnchanged. :
(2) The number of strokes ddes not affect the strength of the iron nail.
{3) The magnefism gets weaker when more strokes are applied to the iron nail.

(4) The magnetism gets stronger when more strokes are applied to the iron nail.

Arvin had four button magneis (A, B; C and D) of different sizes. He brought them
near to a box of pins.

Si=l=lw

He observed the number of pins that were atfracted by each magnet and
recorded his observations in the tabie below.

pins attracted

MagnetA | MagnetB Magnet C Magnet D

Number of 15 10 3 7

Which of the statemeni(s) is/are true about the experiment?

Az Magnet A is the strongest.

B: Magnet B is weaker than Magnet D.

C: The strength of the magnet depends on its size,

D: The strength of the magnet does not depend on its size.

{1} A and B only {(2) Aand C only
(3) A and D only (4) B and D only

¥
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16. Below is a classification chait of body systems.

Systems

Reépiratbry . ' Digestive Circtiatory

Which of the following correctly match the parts to the systemns? -

Respiratory Digéstive - __Cireulatory
(1} Gullet Windpipe - ' Skull
(4] Heart Nose Large infestine .
(3) .___Nose Small intestine Ribs
{4 Lungs .__Stomach - Heart

17. Which one of the actions below makes least use of the muscular systenmi?

{1) Running

{2) Skipping

(3) Sitting on a chair
(4} Playing basketbali
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18. Ann tries to describe 4 body system found in the human body. She says, “This
system supports the body and gives it shape, protects some imporiant organs
inside the body and works with the muscular systeni to ehable the body to move
about”.

Which of the following body systems is she referring to?

(1) ©)

3) @)

10 .
(E=



19.

20.
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Daniel is playing basketball with his friends. Which of the systems help him play
basketball? s
A: Skeletal system
B; Muscular system

C: Circulatory system

(HAonly {2) A and B only
{3} A and C only HA BandC

The flowchart below shiows the characteristics of some body systems.

Body system
Does it help the ' No |Doesithelpto _No
body to move? »| transportdigested food —
' ‘around the body?
\,rYeS Yes

Does it brotect vital No
organs?

[v=
O

Which one of the following is likely to be the circulatory system?

(1) A (2)B
®cC (4D

11




21. David afe a plate of fried rice with pieces. of chicken {40 grams) for dinner. The
graph below shows the amount of digested fned rice with chicken in three

Rosyth Schoal/Semesiral Assessment 2/Science/P3/2012

organs of his digestive system.

Part of David's diq estive system

20
B Amount of 138
digested fried |,
rice with
chicken {gm} 5
G o = T y
Part A Part B _PartC
What are Paris A, Band C?
T PartA PartB. “PartG
{1) { Gullet Large intestine Small intestine
(2) | Small intestine Gullet Stomach
(3) | Mouth Stomach Small intestine
{4) | Stomach Large intestine | Guitet

12
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The diagram below shows the human digestive system.

Use the diagram to answer questions 22, 23 and 24.

22.  Which of the following statements best describe the functions of the
digestive juices produced in P?

A: They add moisture into the food.

B: They help to digest the food partially.
C: They help to digest the food completely.

(1) A only (2) A and B only
{3) A and C only A, BandC

23. Inwhich of the following part is water absorbed?

(1) P only (2) Q only
(3) Ronly (4) T only

Go fo page 14 for Q24.

13
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24.  Which one of the following best describes what takes place at Q, Rand S7

(1

4]

3

4

Q R §
Digestion takes | Allows food topass | Digested food is
place ‘through absorbed
Allows food to pass | Digested food is Water is being
through absorbed removed
Allows food to pass | Digestion takes place Digested food is
through absorbed
Digested food is | Water is being " Aliows food to.pass. -

:through.

absorbed removed

25. Belowis a classification chart of the digestive system.

Digestive System

Mouth

Stomach Small intestine

What are the headings, A and B, likely o be?

(1)
@
@)
(4)

Large intestine

A _ B ‘
Does not grind food info smaller Grind food into smaller pieces.
pieces
Does not produce digestive juices. Prod_ucés digesfive juices.

Does not absorb digested food. Absorbs digested food.

Help to digest food. Does nothelp to digesi food.

14

13}



28.

27.

28.
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John was eating his lunch when he started to choke. Which of the following
is the most likely reason why he choked?

(1) The food tasted bad.

(2) The food entered his gullet.

(3) The food eiitéred his stomach.
{4) The food entered his windpipe.

Four pupils, Alex; Beatrice; Chailie and Dewi midde some $taternents about
seeds. a

Alex . . Seeds grow intoplants.
Beairice: Séeds grow into:stems.
Charlie : Seeds grow into feaves.
Dewi : Seeds areisually found inside fruits.

Who made the comrect statement(s)?

(1) Alex only {2) Alex and Dewi only
“(3) Beatrice and Charlie only {4) Alex, Beatrice and Dewi only

The diagram below shows the stem of a plant. The arrows show how
wafer is carried in the plant.

Part A

T Direction of water flow

Stem T

Part B

What are parts A and B likely to be?

A B
(1) Fruit Seed
(2) Leaf Root
(3) _ Root . Leaf
4 Flower ' Fruit

15
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29. Mary placed a balsam plant in a beaker fitled with blue coloured water.

Kﬁelf a fe@_@ays;_._l}r‘!;am noticed. thatthe leaves and the stem had turned
blue. What.canMary inferifrom her experiment?

A: Wateris absorbed through the leaves.
! Id the:plant firmly to the:ground,

C: The roots absorb the blue coloured water and pass it on to the stem.

(1) Aonly (2) C only
(3) A and C only HA BandC
16

133



30.
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Ali carried out an experiment with two potted plants, A and B. He left Plant

A as itwas and cut away all the leaves on Plant B. He continued to cut
away ali leaves from Plant B whenever the l¢aves appeared.. He watered
the two plants daily with the same amount of water and both plants had
sufficient sunlight. After a few weeks, Plant B died but Plant A survived.

+35f - containers. . .y

water—

Ali thought of four possibilities why Plant A lived but Plant B died. Which
one is comrect?

(1) Plant A can make food but Plant B cannot.
{2) Plant A can stand upright but Plant B cannot.

(3) Plant A can absorb water but Plant B cannot.
(4) Plant A has mineral salts but Plant B does not.

End of Part |

17
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Partl {40 MARKS)

For questions 31.to 44, wite your answers in this booklet.

31. Wei Leong carried out an experiment:to-find, out the conditions needed for the
grasshoppers. fo live longer. He kept each.grasshoppér of similar species in four
different containers as shown below.

sealed fid L ' ' - -

» figshileaf |
GonfalperA, .

Tiawith- tipiis

Gontainer¢ - -~ _ ‘Container D

{a) In which container would the grasshopper live the longest? Explain why.
(tmy}

{b} Which group of animals would you classify the grasshopper? (1m)
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32. The table below shows the characteristics of four plants, W, X, Y and Z.
A tick (+) shows a particular characteristic of the plant.

Characteristics W X Y | Z
“Ttbears fraits. A v
- It grows ont land. 4 v L

(a) Based on the information presented in the table above, state a difference
between Plant Y and Plant Z {1m})

(b} From the information above, fill in the letters (W, X, Y and Z) in the
classification chart below to fepfésent the plants.

. F;lants l
. ] )
| I
Flowering Non-flowering
{ | I l |
On land in water On land In water
| l | I
0 (0] (i) {iv)

(2m)

A 2’1—



33. Study the flow chart carefully.

Animals

¥

Does it reproduce by
laying eggs?

Rosyth School/Semestral Assessment 2/Science/P3/2012

Yes

L 4

Canitfly?

Yes

h 4

No No /N
Does it have hair? o
1 Yes
= (®) ©

{(a) State the characteristics of Animal A. (1m)

{b) How is Animal A different from Animal B? (1m)

{¢) Can Animal C be a mammal? Support your answer with a reason. (1m)
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Lina found Animal W and put it in a tank with the cover not fully closed.
She observed that Animal W moved away when it was touched.,

She also recorded the miass of the leaves and minced meat left in the fank
at the end of different days. Refer to the table below.

Mass of fresh leaved IeiT ] Mass O
(in graras) '-
Day 1 70
Day 3 ' 50 _
Day 5 35 T 70
Day 7 25 70

(@ From the table above, what do you ohserve about the mass-of fresh
leaves left from Day 1 to Day 77 {1m}

(b) Lina said that Animal W eats both fresh leaves and'meat only.
Do you agree with her? Support your answer with a reason. (1m)

{¢}  Since Animal W is a living thing, based on the information above, what
are the two characteristics of living things shown by Animat W?  {2m)

4 13
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35.  Mr Chan drove his car as shown below to work every day.

(a) Name the material Part X is made of. {1m)

(b} Using the property of material, explain why this material (2) is suitable to
make Part X. (1m)
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36. The diagram below shows a metatl paper cfip tied to a stone with a string. The
magnet is attached fo the retort stand with a clamp.

clamp
\ S; _ __sfrong be_lr magnet
==y <[
—r"— N

metal paper clip

retort stand" .
sting

. slone

(a) The position of the magnet is changed so thét'.the_éouth pole is facing
the metal paper clip. What will happen {o the metal paper clip? {(1m)

{by What will happen to the metal paper clip if the string is cut? {(1m)

(c) Now the position of the bar magnet is moved as shown in the diagram
befow. Draw the new position of the string and the metal paper clip which
are still tied to the stone. {1m}

clamp

strong bar magnet

retort stand «~——

stone

ek
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37. Kaden tied 3 metal bars (W, X and Y) of the same size onto a horizontal
rod as shown below.

rod\

G b 1€ D
Bar W Bar X
bar magnet

BarY

He brought the north-pote of a bar magnet near to G and then D of each
metal bar. After that, he wrote his observations below.

Metal bar | Norh-pole of the bar magnet North-pole of the bar magnet
and C ' and'D
W Altracted Affracted
X Repelled " Alfracted
Y Rér_nained the same. Remained the same

(a) Based on Kaden's observations, which metal bar (W, X or Y) is a

magnei? (1m)

(b) What material could metal bar W be made of? (1m)
(¢) Kaden said that metal bar Y is a magnetic material. Do you agree

' with him? Support with a reason. (1m)
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38. The diagram below shows a body systern.

(@) Néme thé’ above system. . .

{b) Alex said that the function of the above system helps the body fo take in air.
Do you agreed with-Alex? Explain why. {tm)

8 43
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39. Siti makes some comments about the human body. Do you agree with her?

White “True” or “Faise” in the boxes below. (3m)
Siti's: statements “True”
or
*False”

(a)

{b).

(c)
(d)
()

m

The lungs help the bady get rid of excess water.

Nutrients are absorbed into the-blood-at the small
intestine.

“The skuil ﬁrotects the heart.

‘The guliet é;arrie;s blood to the stomach.

Undigested food is stored in the stomach. - .

Bones and muscles woik together to enable us to move.
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40. Below are pictures of two parts, X and Y;found in the human body.

Both X and Y are classified under different bady systems. What are the body

Systems? (2im)
{a) X belongs to the . system.
{b) Y belongs to the system.
(c) State a function of the system which X belongs to. (1m)

{d) Alice says-that blood flows through X and air flows through Y. Do you agree with
her? Why? (1rm)

10 wy
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41. Ourteeth help to cut food into smaller pieces.

{a) Why Is it important for us to chew our food into smaller pieces before
swallowing them? {im}

(b} What is the'substarice that helps in the digestion of 1664 in-fhie mbiith? (1m)

42. A, B, C, D and E are processes that take place in the digestive systerm.

-Food is chewed, ground and reduced to smaller pieces.
Excess water is absorbed.
'~ Food passes through a simple muscular tube.
: Fully digested food is passed into the bloodstream.
Food is mixed with digestive juices and reduced to semi-solid in a
. ‘muscular bag.

moowx

(@) Fiil in the boxes below with the letters A, B, C, D ahd E in correct sequence.

(2m}
Food enters . Undigested
the digestive . % . N - . foodis
system " i i ! g "1 passed out

(b) Name the parts of the digestive system where digestive juices are produced.
(1m)

11
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43. The graph below shows the length of the root and stem of a plant.

Growth of a Plant

16
14 -
_.eg..iz 7

£ 10+ 1 T8l Root

p .

2 & stem

Nivitier of Days
Based oh the above graph, answer the following quésticiis.
(a) State one similarity between the root and stem on Day 15. (1m)

(b) Which part of the plant appears first, the root or the stem? State the evidence.

(1im}

12
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44. The diagram below shows a flowering plant.

A

B

i

- D

E

(8) Wiite the letters A, B, C, D or E in the bianks below.

(i) Part makes food for the plant. {1m)
(i) Part holds the plant firmly to the ground. (im)
(b). What is the function of Part D? (1m)
(c) Which part of the plant siores and protects the seeds? {(tm)

End of Paper

13
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31. a) Container C. Living things need air, food and water to survive. In C, both food and
alr is available thus the grasshopper can live the longest.

b) The insect group.
32. a) Plant Y bears fruits but Plant Z does not bear fruits.

byiyw
iy
jii) X
iv)Z
33.a) Animal A can reproduce by laying eggs and it can also fly.
" b) Animal A can fly but animal B cannot fly.

¢) Yes. Mammals have hair on the body and animal C also has hair.

34. a) From day 1 to day 7, the mass of the leaves gets lesser.

149


Answer Key


b) No. Animal W does not eat meat because the mass of minced meat left is the same.
¢) Living things respend to changes. Living things need air, food and water to survive.

35. a) Rubber-
b) Rubber is flexible.

36. a) The metal paper clip will remain stationary.

b) The metal paper clip will attract the strong bar magnet.

clamp

)
37. a) 'X

b) Nickel

¢} No. Metal bar remained the same and was not attracted to the magnet.

38. a) Muscular system

b} The system above does not take in air, only helps the body to move about

39.
a) False d) False
b) True " e)False
c) False f) True

40. a) Respiratory
b) Circulatory

¢) To take in oxygen and give out carbon dioxidé from the body
d) No. Blood flows through Y and air flews through X,
41. a) The food will be digested easily.

b) Saliva.
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42, a)A-C—E-D-B
b) Mouth, stomach, small intestine

43. a) Both the root and stem is 6 ¢m tall.

b) Root. The shoot only appears on day 10.

44.ai) A
ai) E

b) Part D holds the plant upright.
¢) Part C

tSt
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